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* You may not get the same result on your

system.

* Theox inthe beginning represents the
address is in hexadecimal form.

|+ Notice that first address differs from
second by 4-bytesand second address
differs from third by 4-bytes.

 Thisis because the size of integer (variable
of type int) is 4 bytes in 64-bit system.
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&c = Ox7fffsfbff8ac RIEIRRIEI

c=s i

pc = Ox7FFF5Fbff80c L
*pc =5 RO

pc = Ox7fff5fbffsec PR
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Uses of the Assignment Operator

Before: After:
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- arrays and pointers, and use them efficiently inyour




arr[f1] arr[3] arr[4a)

Array a5 Pointaer




Output of Eample 4:

Displaying address using arrays:
- &arr[0] = 0x7fff5fbff880

| &arr[1] = Ox7fff5fbff884

&arr[2] = Ox7fff5fbff888

| &arr[3] = Ox7fff5fbff88c

| &arr[4] = 0x7fff5fbff890

Displaying address using pointers:
“| ptr + 0 = Ox7/fffofbff880
ptr + 1 = Ox7fff5fbff884
ptr + 2 = Ox7fff5fbff888
ptr + 3 = Ox7/fff5fbff88c
ptr + 4 = Ox7fff5fbff890

o V-3
In the above program, a different pointer ptr is

used for displaying the address of array
elements arr.

But, array elements can be accessed using




